Make a state diagram of the Go-Back-N ARQ algorithm.

What is the functions does the physical layer perform?

What is the functions does the link layer perform?

Suppose that each link uses CRC error detection, but no ARQ. Suppose that the frame error rate is 10^-2 (a reasonable number for wireless links, but far to large for wired links). And suppose that a connection is made up of 50 links. What is the probability of a frame successfully reaching the destination?

What are the advantages of statistical multiplexing over TDM and FDM? What are the disadvantages of statistical multiplexing? 

From the home to the first hop (central office or head end), does DSL use statistical multiplxing? Does cable modem use statistical multiplexing? Do cell phones that use CDMA use statistical multiplexing?

Explain what the bandwidth delay product is?

When referring to an encoding with QAM, explain what a constellation diagram is and how it relates to data rate. What are the objectives and constraints when designing the constellation diagram for an encoding scheme? 

Suppose the baud rate is 8Mbaud, and QAM 64 is used with one party bit. What is the bit rate?

What is multipath fading or multipath reflection?

